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SiSiSimuSimu

Red curve is from simulation;
Blue lines is the cuts from production runBlue lines is the cuts from production run

l til tilationlation
 Average Z and A for both Average Z and A for both 

incident and scattered incident and scattered 
electron have been defined electron have been defined 
separatelyseparatelyseparately.separately.

 Peak position is reasonably Peak position is reasonably 
consistent with data.consistent with data.consistent with data. consistent with data. 
(<100keV)(<100keV)

 Peak width is manually Peak width is manually yy
tuned. (smeared by a tuned. (smeared by a 
480keV480keV--widewide--Gauss for Gauss for 
every case)every case)every case)every case)

n but switched for 0 8 MeV
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n, but switched for 0.8 MeV



Si l ti (Si l ti (Simulation (specSimulation (speci l f ll )i l f ll )cial ref. cell run) cial ref. cell run) 
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P li i PP li i PPreliminary PPreliminary Pressure curveressure curve
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P li i PP li i PPreliminary ProPreliminary Pro

See next slide for detaSee next slide for deta

d ti i ldd ti i ldoduction yieldsoduction yields

ail
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V liV liVery prelimVery prelim

 Yields of every run has bYields of every run has b
simulation data.simulation data.

 The productionThe production--runrun--yieldyield
preliminary pressure curvpreliminary pressure curvpreliminary pressure curvpreliminary pressure curv
slide is at the temperaturslide is at the temperatur

i i ldi i ldminary yieldminary yield

been corrected by the been corrected by the 

s are projected to the s are projected to the 
ve So the pressure in lastve So the pressure in lastve. So the pressure in last ve. So the pressure in last 
re of re of ReferenceReference cell!cell!
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